
AF-134 1 P.T.O.  

Seat No. :  _______________ 
  

AF-134 
April-2016 

B.A., Sem.-VI 

CC-315 : Economics 

(EA : Economics Essays – II)  

 
Time :  3 Hours]  [Max. Marks : 70 

ÍÛæ̃ Û¶ÛÛ :  ¼ÛµÛÛ Ü¶Û¼Û×µÛÛé¶ÛÛ •Ûä̈ Û ÍÛÁõ”ÛÛ ™öé.  
 

1. ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé ¼Ûé ¸ÛÁõ Ü¶Û¼Û×µÛ ÅÛ”ÛÛé ƒ 

 (A) ½ÛÛÁõ©Û¾ÛÛ× ¼ÛÛÇ¾Û›æ÷Áõà 

 (B) ½ÛÛÁõ©Û¾ÛÛ× ïõÛÇä× ¶ÛÛ¨Ûä 

 (C) ½ÛÛÁõ©Û¾ÛÛ× …éïõ¾ÛÅÛ“Ûà ÜµÛÁõÛ¨Û …¶Ûé ÍÛæ“¾Û ÈÛà¾ÛÛé  

 (D) ÍÛÛ¾ÛÛÜ›÷ïõ ÍÛÅÛÛ¾Û©Ûà (”ýÛÛÅÛ, Áõà©ÛÛé …¶Ûé ¸ÛóÊ¶ÛÛé ½ÛÛÁõ©Û¾ÛÛ×)  

 

___________ 

  



AF-134 2  

Seat No. :  _______________ 
  

AF-134 
April-2016 

B.A., Sem.-VI 

CC-315 : Economics 
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Instruction : All essays carry equal marks.  

 

 

1. Write any two essays from the following : 

 (A) Child Labour in India. 

 (B) Black Money in India. 

 (C) Micro Credit and Micro Insurance in India. 

 (D) Social Security (concept, practice and issues in India). 

 

_____________ 
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AF-134 
April-2016 

B.A., Sem.-VI 

CC-315 : Economics 

(EB : Econometrics)  

 
Time :  3 Hours]  [Max. Marks : 70 
 

ÍÛæ̃ Û¶ÛÛ : ¼ÛµÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ •Ûä̈ Û ÍÛÁõ”ÛÛ ™öé. 
 

1. (a) …¬ÛÙÜ¾ÛÜ©ÛÉÛÛÍªÛ¶ÛÛé …¬ÛÙ …Û¸ÛÛé ©Û¬ÛÛ ©Ûé¶Ûä× ÍÈÛÄõ¸Û …¶Ûé ïõÛýÛÙ“ÛéªÛ ÍÛ¾Û›ÛÈÛÛé.  

 (b) 26 ¤øÛýÛÁõÛé¶ÛÛ …éïõ ÍÛé¾¸ÛÅÛ¶Ûä× ÍÛÁéõÁõÛÉÛ …ÛýÛäÌýÛ 60 ¾ÛÜÐü¶ÛÛ ›ÛéÈÛÛ ¾ÛÆýÛä× ›÷é¶Ûä× ¸Ûó¾ÛÛÜ¨Û©Û ÜÈÛ˜ÛÅÛ¶Û 2 
¾ÛÜÐü¶ÛÛ ™öé. ÉÛä× …Û ÍÛé¾¸ÛÅÛ ¶Ûé 62 ¾ÛÜÐü¶ÛÛ¶ÛÛ ÍÛÁéõÁõÛÉÛÈÛÛÇà ÍÛ¾ÛÜÌ¤ø¾ÛÛ×¬Ûà ÅÛàµÛéÅÛ ™öé …é¾Û ïõÐüà 
ÉÛïõÛýÛ ? 95% ÜÈÛÊÈÛÛÍÛ¶Ûà ïõ“ÛÛ…é ¸ÛÁõà“Û¨Û ïõÁõÛé. (t0.05 = 2.060)   

…¬ÛÈÛÛ  

 (a) ‘F’ ¸ÛÁõà“Û¨Û ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé.  

 (b) ïõÛé̂  ¤éøÅÛàÜÈÛ¡ö¶Û ÈÛé̃ Û¶ÛÛÁõ ï×õ¸Û¶Ûà¶ÛÛé þùÛÈÛÛé ™öé ïéõ ©Ûé…Ûé þùÁõ ¾ÛÜÐü¶Ûé 20 TV ÈÛé̃ Ûé ™öé. ïõÛé̂  …éïõ 
ÈÛÌÛÙ¶Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û ¾ÛÇéÅÛ ™öé. ÍÛ¾Û•Ûó ÈÛÌÛÙ þùÁõ¾ýÛÛ¶Û 240 TV ÈÛé̃ ÛÛýÛéÅÛ ™öé. 95% 

ÜÈÛÊÈÛÛÍÛ¶Ûà ïõ“ÛÛ…é ¸ÛÁõà“Û¨Û ïõÁõÛé ïéõ ï×õ¸Û¶Ûà¶ÛÛé þùÛÈÛÛé ÍÛÛ˜ÛÛé ™öé ïéõ ¶ÛÜÐü (χ
2

0.05
 = 19.675) 

¾ÛÛÍÛ  Jan. Feb. March April May June July Aug. Sep. Oct. Nov. Dec. 

ÈÛé̃ ÛÛ¨Û 18 15 18 18 25 20 19 22 20 25 20 20 

 

2. ýÛ´ù˜™ö ÉÛéÌÛ¸Ûþù ‘e’ ©Û¬ÛÛ Ü¶Û¨ÛÛÙýÛïõ ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ ‘r2’ ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé.  

…¬ÛÈÛÛ  

 ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¾ÛÛ¤éø Ü¶ÛýÛ©ÛÍÛ×¼Û×µÛ y = 
^
b0 + 

^
b1, xi + ei …¶Ûé ‘r2’ ÉÛÛéµÛÛé ©Û¬ÛÛ 

^
b0 …¶Ûé 

^
b1 ¶ÛÛé 

¸Ûó¾ÛÛÜ¨Û©Û þùÛéÌÛ ¾ÛéÇÈÛÛé :   

x 36 80 50 58 72 60 

y 35 65 60 39 48 44 

 

3. ¼ÛÐäü˜ÛÅÛàýÛ ÍÛ¾ÛÁéõ”Û©ÛÛ ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé.  

                 …¬ÛÈÛÛ  

 ËÛé̈ Ûà•Û©Û ÍÛÐüÍÛ×¼Û×µÛ ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé.  
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4. ýÛä•Û¸Û©ÛÕ ÍÛ¾ÛàïõÁõ¨Û ¾ÛÛé¦øÅÛ ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé.  

               …¬ÛÈÛÛ  

 ¾ÛÛé¦øÅÛ¶ÛÛ …Ü½ÛßÛÛ¶Û ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé.  

 

5. ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé ¾ÛÛ¤éø ÍÛÛ˜ÛÛé ÜÈÛïõÅ¸Û ÉÛÛéµÛÛé : 

 (1) …¬ÛÙÜ¾ÛÜ©ÛÉÛÛÍªÛ ______ ¾ÛÛ¤éø¶ÛÛé …½ýÛÛÍÛ ™öé.  

  (a) ¸ÛóýÛÛé•Û¾ÛæÅÛïõ …ÈÛÅÛÛéïõ¶Û  (b) …Û•Û¨Û¶Û 

  (c) ¸ÛÜÁõïõÅ¸Û¶ÛÛ ¸ÛÁõà“Û¨Û  (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ ÜÈÛÉÛé 

 (2) D = a – bp …¶Ûé S = c + dp ïõýÛÛ ¾ÛÛñ¦éøÅÛ¾ÛÛ× ÍÛÛÁõà Áõà©Ûé ÈÛ¸ÛÁõÛýÛ ™öé ? 

  (a) …¬ÛÙÜ¾ÛÜ©ÛÉÛÛÍªÛ¶ÛÛ ¾ÛÛé¦éøÅÛ¾ÛÛ×  (b) …Û×ïõ¦øÛÉÛÛÍªÛ¶ÛÛ ¾ÛÛé¦éøÅÛ¾ÛÛ×  

  (c) …¬ÛÙÉÛÛÍªÛ¶ÛÛ ¾ÛÛé¦éøÅÛ¾ÛÛ×  (d) •ÛÛÜ¨ÛÜ©Ûïõ ¾ÛÛé¦éøÅÛ¾ÛÛ×  

 (3) …×©ÛÁõÛÅÛ …Û•Û¨Û¶Û …é¤øÅÛé  

  (a) ÜÈÛÊÈÛÛÍÛ¶Ûà ïõ“ÛÛ  

  (b) ¸ÛóÛ˜ÛÅÛ¶ÛÛ× ¾ÛæÅýÛ¶ÛÛé …éÈÛÛé •ÛÛÇÛé ›÷é¾ÛÛ× ¸ÛóÛ˜ÛÅÛ¶Ûä× ÍÛÛ˜Ûä× ¾ÛæÅýÛ ÍÛ¾ÛÛýÛéÅÛä× ÐüÛéýÛ.  

  (c) (a) ©Û¬ÛÛ (b) ¼Û×¶Ûé ÍÛÛ˜ÛÛ ™öé.  

  (d) (a) ©Û¬ÛÛ (b) ¼Û×¶Ûé ”ÛÛé¤øÛ ™öé.  

 (4) ïõÛýÛÙ“Û¾Û ïéõ ÈÛµÛä þù“Û©ÛÛÈÛÛÇä× …Û•Û¨Ûïõ …é¤øÅÛé,  

  (a) ÈÛµÛä× ÜÈÛ˜ÛÁõ¨Û µÛÁõÛÈÛ©Ûä× …Û•Û¨Ûïõ  (b) …Ûé™ä×ö ÜÈÛ˜ÛÁõ¨Û µÛÁõÛÈÛ©Ûä× …Û•Û¨Ûïõ  

  (c) ÍÛäÁéõ”Û …Û•Û¨Ûïõ  (d) …¶ÛÜ½Û¶Û©Û …Û•Û¨Ûïõ  

 (5) …Û•Û¨Ûïõ ÍÛäÍÛ×•Û©Û ÐüÛéÈÛÛé …é¤øÅÛé ïéõ,  

  (a) …Û•Û¨Ûïõ¶Ûä× ¾ÛæÅýÛ Ðü¾ÛéÉÛÛ …éïõ ›÷ ÐüÛéÈÛä×  

  (b) …Û•Û¨Ûïõ¶Ûä× ÜÈÛ˜ÛÁõ¨Û ÉÛæ¶ýÛ ÐüÛéÈÛä×.  

  (c) Ü¶ÛþùÉÛÙ¶Ûà ÍÛ×”ýÛÛ ÈÛµÛ©Ûà ›ÛýÛ ©Ûé¾Û ©Ûé¾Û …Û•Û¨Ûïõ¶Ûä× ¾ÛæÅýÛ ¸ÛóÛ˜ÛÅÛ¶Ûà ÍÛÛ˜Ûà Ýïõ¾Û©Û ÍÛÛ¬Ûé 
¼ÛÁõÛ¼ÛÁõ ¬ÛÛýÛ.  

  (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ× ›÷ÈÛÛ¼ÛÛé ÍÛÛ˜ÛÛ ™öé.  

 (6) Xi ©Û¬ÛÛ Yi ¶Ûà Ýïõ¾Û©ÛÛé Š¸ÛÁõ ¾Ûä›÷¼Û …Û¸Ûà ÐüÛéýÛ, ©ÛÛé r
2 ¶Ûä× ¾ÛæÅýÛ ÅÛ•Û½Û•Û ________ ¬ÛÛýÛ.  

Xi 10 20 30 40 50 60 70 

Yi 700 600 500 400 300 200 100 

  (a) – 1¶Ûà ¶Ûœ÷ïõ  (b) + 1¶Ûà ¶Ûœ÷ïõ 
  (c) ˜ÛÛé‘õÍÛ – 1 (d) ˜ÛÛé‘õÍÛ 0 
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 (7) ¶ýÛæ¶Û©Û¾Û ÈÛ•ÛÙ ¸Û±ùÜ©Û ³ùÛÁõÛ ¾ÛéÇÈÛéÅÛ Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛ Áéõ”ÛÛ ˜ÛÅÛ¶ÛÛ _____ ¶ÛÛ ¾ÛæÅýÛ¬Ûà ¸ÛÍÛÛÁõ ¬ÛÛýÛ 
™öé.  

  (a) ¾ÛµýÛïõ    

  (b) ¸Ûó¾ÛÛÜ¨Û©Û ÜÈÛ˜ÛÅÛ¶Û 
  (c) ¾ÛµýÛÍ¬Û 
 (8) ¶ýÛæ¶Û©Û¾Û ÈÛ•ÛÙ ¸Û±ùÜ©Û ³ùÛÁõÛ ¾ÛÇéÅÛ ¸ÛóÛ˜ÛÅÛÛé¶ÛÛ …×þùÛÜ›÷©Û ¾ÛæÅýÛÛé¶ÛÛ ¸Ûó¾ÛÛÜ¨Û©Û þùÛéÌÛ¶ÛÛé Š¸ÛýÛÛé•Û 

Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛ Áéõ”ÛÛ¶ÛÛ _____ ¾ÛÛ¤éø ¬ÛÛýÛ ™öé.  
  (a) ÜÈÛÌÛ¾Û©ÛÛ ›Û¨ÛÈÛÛ  
  (b) ÍÛÛÁõÛ …¶ÈÛÛýÛÛé›÷¶Û¶Ûä× ¸Ûó¾ÛÛ¨Û ›Û¨ÛÈÛÛ  
  (c) …Ü½Û¶Û©Û©ÛÛ ›Û¨ÛÈÛÛ   

  (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ× ”ÛÛé¤øÛ ™öé  
 (9) ¶ýÛæ¶Û©Û¾Û ÈÛ•ÛÙ ¸Û±ùÜ©Û¬Ûà ¾ÛéÇÈÛéÅÛ Y = α + βXi + ui ¾ÛÛ× Y ¶Ûä× ¾ÛæÅýÛ ________ ™öé.  

  (a) ¾ÛÛé¦éøÅÛ¶Ûà …×þùÁõ Ü¶ÛµÛÛÙÜÁõ©Û ¬ÛÛýÛ ™öé.  
  (b) ¾ÛÛé¦éøÅÛ¶Ûà ¼ÛÐüÛÁõ¬Ûà Ü¶ÛµÛÛÙÜÁõ©Û ¬ÛÛýÛ ™öé.  
  (c) îýÛÛÁéõýÛ Ü¶ÛµÛÛÙÜÁõ©Û ¬Û©Ûä× ¶Û¬Ûà.  

 (10) E(V2) = 






n

n – 1
 σ2. …Û, 

  (a) ÍÛÛ˜Ûä× ™öé.  
  (b) ”ÛÛé¤äø ™öé.  

 (11) E(
–
X) …é µ¶Ûä× …¶ÛÜ½Û¶Û©Û …Û•Û¨Ûïõ ™öé. …Û ÜÈÛµÛÛ¶Û, (

–
X = Ü¶ÛþùÉÛÙ¶ÛÛé ¾ÛµýÛïõ, µ = ÍÛ¾ÛÜÌ¤ø¶ÛÛé 

¾ÛµýÛïõ  
  (a) ÍÛÛ˜Ûä× ™öé.  
  (b) ”ÛÛé¤ä×ø ™öé.  

 (12) E(S2) = 






n – 1

n
  






n

n – 1
 . …Û,  

  (a) ÍÛÛ˜Ûä× ™öé.  
  (b) ”ÛÛé¤ä×ø ™öé.  

 (13) S2 = 
Σ(Xi – 

–
X)

2

n
 . …Û ºõÛéÁõ¾ýÛäÅÛÛ,  

  (a) ÍÛÛ˜Ûà ™öé.  
  (b) ”ÛÛé¤øà ™öé.  
 (14) Ü¶ÛþùÉÛÙ¶ÛÛ ¾ÛµýÛÍ¬Û¶Ûä× ÜÈÛ˜ÛÁõ¨Û Ü¶ÛþùÉÛÙ¶ÛÛ ¾ÛµýÛïõ¶ÛÛ ÜÈÛ˜ÛÁõ¨Û ïõÁõ©ÛÛ× …Ûé™ä×ö ÐüÛéýÛ ™öé. …Û ÜÈÛµÛÛ¶Û,  
  (a) ÍÛÛ˜Ûä× ™öé.  
  (b) ”ÛÛé¤ä×ø ™öé.  
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1. (a) Write a note on meaning, nature and scope of econometrics.  

 (b) A sample of 26 tyres show an average life of 60 months with a standard deviation 

of 2 months. Can this sample be considered to be a sample from a population with 

mean life of tyres of 62 months ? Test at 95% level of confidence. (t0.05 = 2.060)  

OR 

 (a) Write a note on ‘F’ test. 

 (b) A company selling televisions claims that it sells 20 TV sets every month.                    

Observation of a particular month gives the following sales data. Find at 95% 

confidence level the company’s claim. Total television sets sold in the survey year 

were 240. (χ2
0.05 = 19.675) 

Month Jan. Feb. March April May June July Aug. Sep. Oct. Nov. Dec. 

Sale 18 15 18 18 25 20 19 22 20 25 20 20 

OR 

2. Write a note on random error term ‘e’ and coefficient of determination ‘r2’. 

OR 

 For the following data obtain line of regression y = 
^
b0 + 

^
b1, xi + ei and find out ‘r2’, and 

standard error of  
^
b0 and 

^
b1.  

x 36 80 50 58 72 60 

y 35 65 60 39 48 44 

 

3. Write a note on multicollinearity. 

                 OR 

 Write a note on autocorrelation. 
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4. Write a note on simultaneous equations model. 

               OR 

 Write a note on identification of a model. 

 

5. Choose correct option for the following : 

 (1) Econometrics is the study of ______. 

  (a) empirical observations (b) estimation 

  (c) hypothesis testing (d) All of the above 

 (2) D = a – bp and S = c + dp can be call the best constituents of which type of model ? 

  (a) Econometric (b) Statistical 

  (c) Economic (d) Mathematical 

 (3) Interval estimates mean 

  (a) confidence levels  

  (b) range of values between which the true parameter lies 

  (c) both (a) and (b) 

  (d) neither (a) nor (b) 

 (4) A more efficient estimator means 

  (a) estimator with larger variance  

  (b) estimator with smaller variance  

  (c) linear estimator 

  (d) unbiased estimator  

 (5) Consistent estimator means that the estimator 

  (a) must give the same value each time 

  (b) must have zero variance  

  (c) should approach the true value of the parameter as the sample size gets 

larger 

  (d) All of the above 

 (6) If Xi and Yi are given as below, what is the probable value of r2 ? 

Xi 10 20 30 40 50 60 70 

Yi 700 600 500 400 300 200 100 

  (a) Close to – 1 (b) Close to + 1 

  (c) Exactly – 1 (d) Exactly 0 
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 (7) The regression line obtained by the OLS method passes through _____ of the 

observation. 

  (a) mean   

  (b) standard deviation 

  (c) median 

 (8) The standard errors of estimates of parameters obtained by OLS method are often 

used as measures of _____ for the trend regression line. 

  (a) dispersion (b) goodness of fit 

  (c) unbiasedness (d) None of the above  

 (9) In Y = α + βXi + ui obtained by OLS model, the value of Y is 

  (a) determined inside the model  

  (b) determined outside the model 

  (c) remains undetermined 

 (10) E(V2) = 






n

n – 1
 σ2. This is  

  (a) true 

  (b) false 

 (11) E(
–
X) is an unbiased point estimate of µ. (

–
X = Sample mean, µ = population mean) 

This is 

  (a) true 

  (b) false 

 (12) E(S2) = 






n – 1

n
  






n

n – 1
 . This is   

  (a) true 

  (b) false 

 (13) S2 = 
Σ(Xi – 

–
X)

2

n
 . This formula is 

  (a) true 

  (b) false 

 (14) Sample median has lesser variance than sample mean. This statement is 

  (a) true 

  (b) false 
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Seat No. :  _______________ 
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(EC : Economics Thoughts)   
 

Time :  3 Hours]  [Max. Marks : 70 

 

1. (a) ¼Ûà.…ÛÁõ. …Û×¼Ûé¦øïõÁõ¶ÛÛ …ÛÜ¬ÛÙïõ ÜÈÛ˜ÛÛÁõÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé.  6 

…¬ÛÈÛÛ  

  •ÛÛ×µÛàÈÛÛþùà …ÛÜ¬ÛÙïõ ÜÈÛ˜ÛÛÁõµÛÛÁõÛ¶ÛÛ ¾Ûä”ýÛ ÅÛ“Û¨ÛÛé ÍÛ¾Û›ÛÈÛÛé.  

 (b) ¤ÖøÍ¤øàÉÛà¸Û¶ÛÛ ÜÍÛ±ùÛ×©Û¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× •ÛÛ×µÛàÈÛÛþùà …ÛÜ¬ÛÙïõ ÜÈÛ˜ÛÛÁõÍÛÁõ¨Ûà¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 4 

…¬ÛÈÛÛ 

  •ÛÛ×µÛàÈÛÛþùà ÜÈÛ˜ÛÛÁõ¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× …ÛÜ¬ÛÙïõ ÜÈÛïéõ¶®ùàïõÁõ¨Û¶ÛÛ ÜÍÛ±ùÛ×©Û¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé.  

 (c) ¾ÛÐüÛ½ÛÛÁõ©Û¶ÛÛ ÉÛÛ×Ü©Û¸ÛÈÛÙ¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé.   4 

…¬ÛÈÛÛ 

  ÁõÛ¾Û ¾Û¶ÛÛéÐüÁõ ÅÛÛéÐüàýÛÛ¶ÛÛ …ÛÜ¬ÛÙïõ ÜÈÛ˜ÛÛÁõÛé¶Ûà ÍÛ¾Ûà“ÛÛ ïõÁõÛé.  

 

2. (a) ›÷é.¼Ûà. ÍÛé¶ÛÛ …ÛÜ¬ÛÙïõ ÜÈÛ˜ÛÛÁõÛé¶Ûä× ¤øàïõÛ©¾Ûïõ ¾ÛæÅýÛÛ×ïõ¶Û ïõÁõÛé. 6 

…¬ÛÈÛÛ 

  …é¦ø¾Û ÜÍ¾Û¬Û¶ÛÛ ËÛ¾ÛÜÈÛ½ÛÛ›÷¶Û¶ÛÛ ÜÍÛ±ùÛ×©Û¶Ûà ¤øàïõÛ©¾Ûïõ ˜Û˜ÛÛÙ ïõÁõÛé.  

 (b) …é¦ø¾Û ÜÍ¾Û¬Û¶ÛÛ …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ¶ÛÛé ÜÍÛ±ùÛ×©Û ¤æ×øïõ¾ÛÛ× ÍÛ¾Û›ÛÈÛÛé. 4 

…¬ÛÈÛÛ 

  ¸ÅÛé¤øÛé¶ÛÛ …ÛÜ¬ÛÙïõ ÜÈÛ˜ÛÛÁõÛé¶Ûà ¤æ×øïõ¾ÛÛ× ˜Û˜ÛÛÙ ïõÁõÛé.  

 (c) ÜÁõïõÛ¦øÛë¶ÛÛ ½ÛÛ¦øÛ¶ÛÛ ÜÍÛ±ùÛ×©Û¶Ûé ¤æ×øïõ¾ÛÛ× ÍÛ¾Û›ÛÈÛÛé.   4 

…¬ÛÈÛÛ 

  ¾ÛÛÅ¬ÛÍÛ¶ÛÛ ÈÛÍ©Ûà¶ÛÛ ÜÍÛ±ùÛ×©Û¶Ûà ¤øàïõÛ©¾Ûïõ ˜Û˜ÛÛÙ ïõÁõÛé.  

 

3. (a) ïéõˆ¶ÍÛ¶ÛÛé ÁõÛé›÷•ÛÛÁõà¶ÛÛé ÜÍÛ±ùÛ×©Û ÍÛ¾Û›ÛÈÛà, ©Ûé¶Ûà ¾ÛýÛÛÙþùÛ…Ûé ˜Û˜ÛÛë. 6 

…¬ÛÈÛÛ 

  Ü¾ÛÅ¤ø¶Û »õà¦ø¾Ûé¶Û¶ÛÛ …ÛÜ¬ÛÙïõ ÜÈÛ˜ÛÛÁõÛé¶Ûà ¤æ×øïõ¾ÛÛ× ˜Û˜ÛÛÙ ïõÁõÛé.  



AF-134 10  

 (b) •Ûä̈ Ûïõ¶ÛÛé Ü¶ÛýÛ¾Û ïéõˆ¶ÍÛ¶ÛÛ ÜÈÛ˜ÛÛÁõÛé¶Ûé …ÛµÛÛÁéõ Í¸ÛÌ¤ø ïõÁõÛé. 4 

…¬ÛÈÛÛ 

  ¶ÛÈÛ¸ÛóÜÉÛÍ¤ø …ÛÜ¬ÛÙïõ ÜÈÛ˜ÛÛÁõµÛÛÁõÛ ›÷¨ÛÛÈÛÛé.  
 (c) ïéõˆ¶ÍÛ¶ÛÛé ÈÛ¸ÛÁõÛÉÛ¶ÛÛé ¾Û¶ÛÛéÈÛíéßÛÛÜ¶Ûïõ Ü¶ÛýÛ¾Û ¤æ×øïõ¾ÛÛ× ÍÛ¾Û›ÛÈÛÛé. 4 

…¬ÛÈÛÛ 
  ïéõˆ¶ÍÛ¶ÛÛé ÈýÛÛ›÷¶ÛÛé ÜÍÛ±ùÛ×©Û ¤æ×øïõ¾ÛÛ× ÍÛ¾Û›ÛÈÛÛé.  
 

4. (a) ïõÛÅÛÙ ¾ÛÛîÍÛÙ¶ÛÛ …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ¶ÛÛé ÜÍÛ±ùÛ×©Û ÍÛ¾Û›ÛÈÛÛé.  6 

…¬ÛÈÛÛ 
  ïõÛÅÛÙ ¾ÛÛîÍÛÙ¶ÛÛ …ÜµÛÉÛéÌÛ ¾ÛæÅýÛ¶ÛÛ ”ýÛÛÅÛ¶Ûä× ¾ÛýÛÛÙþùÛ…Ûé ¸ÛÁõà“Û¨Û ïõÁõÛé.  
 (b) ïõÛÅÛÙ ¾ÛÛîÍÛÙ¶ÛÛ ËÛ¾Û¾ÛæÅýÛ¶ÛÛ ÜÍÛ±ùÛ×©Û¶Ûé ˜Û˜ÛÛë.    4 

…¬ÛÈÛÛ 
  ïõÛÅÛÙ ¾ÛÛîÍÛÙ¶ÛÛ ËÛ¾Û¾ÛæÅýÛ¶ÛÛ ÜÍÛ±ùÛ×©Û¶Ûà ¾ÛýÛÛÙþùÛ…Ûé ¤æ×øïõ¾ÛÛ× ÅÛ”ÛÛé.  
 (c) ïõÛÅÛÙ ¾ÛÛîÍÛÙ¶ÛÛé ÈÛ•ÛÙÜÈÛ•ÛóÐü¶ÛÛé ÜÍÛ±ùÛ×©Û ¤æ×øïõ¾ÛÛ× ˜Û˜ÛÛë.   4 

…¬ÛÈÛÛ 
  ïõÛÅÛÙ ¾ÛÛîÍÛÙ¶Ûä× …¬ÛÙÉÛÛÍªÛ¾ÛÛ× ýÛÛé•ÛþùÛ¶Û ¤æ×øïõ¾ÛÛ× ›÷¨ÛÛÈÛÛé.  
 

5. (a) ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé :   7 

  (1) •ÛÛ×µÛà¶ÛÛ ¸ÛäÍ©Ûïõ¶Ûä× ¶ÛÛ¾Û ÉÛä× ™öé ? 

  (2) ÉÛÛ×Ü©Û¸ÛÈÛÙ ¾ÛÐüÛ½ÛÛÁõ©Û¶Ûä× ïõýÛä× ¸ÛÈÛÙ ™öé ? 

  (3) …¬ÛÙÉÛÛÍªÛ¶ÛÛ Ü¸Û©ÛÛ ïõÛé¶Ûé •Û¨ÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 

  (4) ¾ÛÛÅ¬ÛÍÛ¶ÛÛ ¾Û©Û ¸Ûó¾ÛÛ¨Ûé ÈÛÍ©Ûà ïõˆ ËÛé̈ Ûà¾ÛÛ× ÈÛµÛé ™öé ? 

  (5) ¸ÅÛé¤øÛé¶ÛÛ ¸ÛäÍ©Ûïõ¶Ûä× ¶ÛÛ¾Û ›÷̈ ÛÛÈÛÛé.  
  (6) ¦éøÜÈÛ¦ø ÜÁõïõÛ¦øÛë¶ÛÛ ¾Û©Û ¸Ûó¾ÛÛ¨Ûé ‘½ÛÛ¦øÛ’¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé.  
  (7) …ÜµÛÉÛéÌÛ ¾ÛæÅýÛ …é¤øÅÛé ÉÛä× ? 

 (b) ›Ûé¦øïõÛ× ›Ûé¦øÛé :   7 

                     A B 

(1) ÍÈÛíéÁõÜÈÛÐüÛÁõà ¶ÛàÜ©Û  (a) ïéõ†¶ÍÛ  
(2) ÜÈÛÜ¶Û¾ÛýÛ ¾ÛæÅýÛ  (b) ¼Û›ÛÁõ¶ÛÛé Ü¶ÛýÛ¾Û  
(3) Essay on population (c) ¦éøÜÈÛ¦ø ÜÁõïõÛ¦øÛë 
(4) Principle of political economy 

and taxation 

(d) ÈÛÍ©Ûä¶Ûà ”ÛÁõàþùÉÛÜî©Û  

(5) ¶ÛºõÛ¶ÛÛé þùÁõ  (e) ¾ÛÛÅ¬ÛÍÛ  
(6) ÍÛà¾ÛÛ×©Û ÈÛ¸ÛÁõÛÉÛ ÈÛèÜ«Û  (f) s/c + v 

(7) ›÷é.¼Ûà. ÍÛé  (g) …é¦ø¾Û ÜÍ¾Û¬Û  
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1. (a) Explain B.R. Ambedkar’s economic thoughts.  6 

OR 

  Explain the main features of Gandhian economic ideology. 

 (b) Explain Trusteeship theory with reference to Gandhi’s economic ideology. 4 

OR 

  Discuss the economic decentralization theory with reference to Gandhi’s 

thoughts. 

 (c) Discuss Shanti parva of Mahabharata.   4 

OR 

  Evaluate Ram Manohar Lohiya’s economic thoughts.  

 

2. (a) Critically evaluate J.B. Say’s economic thoughts. 6 

OR 

  Critically evaluate the theory of division of labour explained by Adam Smith. 

 (b) Write short note on economic growth theory of Adam Smith. 4  

OR 

  Write short note on Plato’s economic thoughts. 

 (c) Write short note on Ricardian theory of rent.  4 

OR 

  Critically evaluate the Malthus theory of population explosion. 

 

3. (a) Explain the Keynes theory of employment and discuss its limitations. 6 

OR 

  Write short note on Milton Friedman’s economic thoughts. 
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 (b) Explain the multiplier concept based on Keynes theory. 4 

OR 

  Explain neo classical school’s economic ideology. 

 (c) Write short note on Keynes psychological law of consumption. 4 

OR 

  Write short note on Keynes interest theory. 

 

4. (a) Explain the Marx theory of economic development. 6 

OR 

  Critically evaluate the surplus value idea of Karl Marx. 

 (b) Discuss Marx labour theory of value.   4 

OR 

  Write short note on limitations of Marx labour theory of value. 

 (c) Write short note on of Marx theory of class war. 4 

OR 

  Write short note on Marx contribution in economics. 

 

5. (A) Answer in short :   7 

  (1) Write down the name of Gandhi’s book. 

  (2) Which parv is Shanti parv in Mahabharata ? 

  (3) Who is father of Economics ? 

  (4) How does population increases as per Malthus theory ? 

  (5) Write down the name of Plato’s book. 

  (6) What is the definition of rent according to David Ricardo ? 

  (7) What is surplus value ? 

 (B) Match the following :   7 

A B 

(1) Laissez Faire Policy (a) Keynes 

(2) Exchange value (b) Law of Market 

(3) Essay on population (c) David Ricardo 

(4) Principle of political economy 

and taxation 

(d) Purchasing power 

of goods 

(5) Rate of profit (e) Malthus 

(6) Marginal propensity to consume (f) s/c + v 

(7) J.B. Say (g) Adam Smith 

    


